K0348_AC

°

oletA ZEX EFRI A/C
=5 MY/MIE o0l x|

oY

THE!:

AEB BE 5258

M o2

AY 4™ otst ok R e

= E 4l odotd

HH.

&2 Elo| LIt UX| ehotof 5t FARolE QIHA EHXE AUFR. &

= HHE 180° E2IH &2 EIo| ¥el /IXIZ Sots.

A2 MEA &2 &2 7t s IRl U2 = UAH = EF.

= MY,
Et A 213, H|
EQl C: 23l 1}

2, LE 93
SO 28, HE 98

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
ClIA = (o]
oleliA E#X EFR] A/C
=M
==
A N
) =
]
-]
130
-~
1
_* L
I ]
! |
1\ pae b
-0,04
]
C\] L )
o = = £ y |
Y
s a)
E= Q0
FEHS Ef2l D D1 D2 L L1 L3 B BT H F x 30° A= 275
By =2
F1 2. N F2 2F. N
K0348.040410 A 4 M10 10 38 25 20 9 3 6 1 8 14
K0348.040510 A 5 M10 10 38 25 20 9 3 6 1,3 8 14
K0348.040610 A 6 M10 10 38 25 20 9 3 6 1,8 8 14
K0348.0404101 A 4 M10x1 10 38 25 20 9 3 6 1 8 14
K0348.0405101 A 5 M10x1 10 38 25 20 9 3 6 1,3 8 14
K0348.0406101 A 6 M10x1 10 38 25 20 9 3 6 1,8 8 14
K0348.040512 A 5 M12 12 468 30 25 108 36 8 1,3 8 15
K0348.040612 A 6 M12 12 468 30 25 108 36 8 1,8 8 15
K0348.040812 A 8 M12 12 46,8 30 25 10,8 36 8 2,3 8 15
K0348.0405121 A 5 M12x1,5 12 468 30 25 108 36 8 1,3 8 15
K0348.0406121 A 6 M12x1,5 12 468 30 25 108 36 8 1,8 8 15
K0348.0408121 A 8 M12x1,5 12 46,8 30 25 10,8 36 8 2,3 8 15
K0348.040616 A 6 M16 16 604 40 32 144 48 10 1,8 15 35
K0348.040816 A 8 M16 16 604 40 32 144 48 10 2,3 15 35
K0348.041016 A 10 M16 16 604 40 32 144 48 10 2,8 15 35
K0348.0406161 A 6 M16x1,5 16 604 40 32 144 48 10 1,8 15 35
K0348.0408161 A 8 M16x1,5 16 604 40 32 144 48 10 2,3 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



K0348_AC

°
olciA Z2IR EFQ A/C
EZS 29
FEHS B2l D D1 D2 L L1 L3 B Bl H Fx30° Al Bty
Ehd =
F1 2N F2 2% N
K0348.0410161 A 10 Mi16x1,5 16 604 40 32 144 48 10 2,8 15 35
K0348.040820 A 8 M20 20 70 50 35 18 6 12 2,3 20 60
K0348.041020 A 10 M20 20 70 50 35 18 6 12 2,8 20 60
K0348.041220 A 12 M20 20 70 50 35 18 6 12 3 20 60
K0348.0408201 A 8 M20x1,5 20 70 50 35 18 6 12 2,3 20 60
K0348.0410201 A 10 M20x1,5 20 70 50 35 18 6 12 2,8 20 60
K0348.0412201 A 12 M20x15 20 70 50 35 18 6 12 3 20 60
K0348.060410 cC 4 M10 10 38 25 20 9 3 6 1 8 14
K0348.060510 C 5 M10 10 38 25 20 9 3 6 1,3 8 14
K0348.060610 C 6 M10 10 38 25 20 9 3 6 1,8 8 14
K0348.0604101 cC 4 M10x1 10 38 25 20 9 3 6 1 8 14
K0348.0605101 cC 5 M10x1 10 38 25 20 9 3 6 1,3 8 14
K0348.0606101 C 6 M10x1 10 38 25 20 9 3 6 1,8 8 14
K0348.060512 cC 5 M12 12 468 30 25 108 36 8 1,3 8 15
K0348.060612 C 6 M12 12 468 30 25 108 36 8 1,8 8 15
K0348.060812 c 8 M12 12 468 30 25 108 36 8 2,3 8 15
K0348.0605121 cC 5 M12x1,5 12 468 30 25 10,8 36 8 1,3 8 15
K0348.0606121 cC &6 M12x1,5 12 468 30 25 108 36 8 1,8 8 15
K0348.0608121 c 8 M12x1,5 12 468 30 25 10,8 36 8 2,3 8 15
K0348.060616 C 6 M16 16 604 40 32 144 48 10 18 15 35
K0348.060816 c 8 M16 16 60,4 40 32 144 48 10 2,3 15 35
K0348.061016 c 10 M16 16 60,4 40 32 144 48 10 2,8 15 35
K0348.0606161 C 6 M16x1,5 16 604 40 32 144 48 10 18 15 35
K0348.0608161 c 8 M16x1,5 16 604 40 32 144 48 10 2,3 15 35
K0348.0610161 C 10 M16x1,5 16 604 40 32 144 48 10 2,8 15 35
K0348.060820 cC 8 M20 20 70 50 35 18 6 12 2,3 20 60
K0348.061020 c 10 M20 20 70 50 35 18 6 12 2,8 20 60
K0348.061220 c 12 M20 20 70 50 35 18 6 12 3 20 60
K0348.0608201 c 8 M20x15 20 70 50 35 18 6 12 2,3 20 60
K0348.0610201 C 10 M20x1,5 20 70 50 35 18 6 12 2,8 20 60
K0348.0612201 C 12 M20x1,5 20 70 50 35 18 6 12 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



